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oA \x

o=

A‘/ffs’/g

Y ep-5°
Y6p-5)° = (Simplify your answey

Answer; 6p-5

1. Evaluate the following expression, if possible. /’——‘ 3
-5) %=

ID: P1.2.43

2. Solve the inequality 16 — 3x > 10. Graph the solution set.

In set notation, the solution is {xI :E( (Type an inequality.)

Graph the solution set. Choose the correct graph below.

() A, il FHt () B, i ———— R
9 6 3 0 3 6 9 9 6 3 0 3 6 9

(5 €. ittt —————— iy () ) Sttt i
9 6 3 0 3 6 9 45 42 9 6 3 0 3

Answers x <2

S
B. © 6 3 0 3 6 9
. TV
ID: 1.1.4 \/

JE—3x D /O

/(,- 3~ >0 /L
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: o .
/ N <, e 7~ - o) — 2_
3. Find the following for the function f(x) = 3x° + 4x - 2. /[(0) =3 K)) i (/m/ é_ 3/0)0) 7/

C_(i_zz__io "y

(a) f(0) (b) f(4) (c) f(—4) (d) f(-x) ol .
(e) - (x) (0 fox+1) (9) f(4x) hixeh) FC¢) =309 “F Sv-T
- S = 2 )+ ) = il
(a) f(0) =| | (Simplify your answer.) /E C/) B 7 =
(b) f(4) = (Simplify your answer.) %—‘f} ~ 3 FC{) - — C/(.—c/ ) -7 = -"3(.-{/%;/) ,_,;9:(,\7)_ 2
(c) f(—4)= a - (Simplify your answer.) = B f g / éH -
~=3 a "/

(d) f(-x)=| | (Simplify your answer.) @/') ':’}F‘/)Z:f‘(/ , :)/—K,)(»() —f‘r‘('/() =y

(e) —f(x)= f(SimpIify your answer.) W) L/.///

(N fix+1)= ' (Simplify your answer.) -"y(xf ¥ #(2’( L"fyf—'e ) e =S YT
(te )= 3(xn) S~ 4Kt )—2

Aote)= % (Kt) XK1) ~ Ce) — L

(h) fx +h) = (Simplify youranswer.)~/(/¢_(-f)-,_~ 36"1“{'1‘%“{'{){’1‘ D e /Xi:’f) -2
(1)< 30X~ 2x0¢ 1D +C (Ko D —2_

(X407 X 4G x €3 HGK—Y— 2

52 A xe1)= 34T Frox 4 < D

30
» (a0 =2/ 9.0 % /i) —2 = Ml voc)  Aos) =2
3x% - 4x -2 (4X)=3( <) = 5/%x) @7@/

- 3x2 —4x + g
SN Aleth) = b ) o e CHrh ) —

. ﬁ)ﬂf/\)i} 6(»,&/;)/\/44) — COKF4H) — 2
48x”° +16x -2 //()(f/l): S//Zﬁ‘)(tl"fxé—fbl) - Y//("f4)~&.\

3x% + 6hx + 3h% + 4x + 4h -2

Aty 3K rexch— 4 ) + G4~ T o
NG L I L i e T e N s

(9) f(4x) = (Simplify your answer.)

Answers -2

4. Find the domain of the function.

f(x) = 4/4x - 20
The domain is | .. (Type your answer in interval notation.)
Lgc FX—2o = O
Answer: [5,00) 459(5;,6,{- 5 ? O~F¢ o

ID: 1.1.59 q)( 2 20
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5. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

3of 44

f(x) = 4x +7; g(x) = 8x ~ 1 AT ¥ T /I >
f’ x‘"—\’( 2 !’ler:— (] = i 1 Gl \
(a) Find (f +g)(x). gl - 7
rmf/—lr J(’— < (_Kyjm)
(f+g)x)= (Simplify your answer.) /) s 'S =
- (\ / X T 6 - - e
What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
A. The domain is {x }
(Use integers or fractions for any numbers in the expressmn Use a comma to separate
answers as needed.)
B. The domain s {x| x i | number} JJ—’{Q L 4 "
. e domain is {x| x is any real number}. = ) G,
b) Find (f- g)(x). 0 )
(b) Find (- 9)(4 9//{,___{7 —fae/ = K (
(f-g)x)= (Simplify your answer.) — : N
(— k'&)(_'_'.f_ e
What is the domain of f - g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.
A. The domain is {x }
(Use integers or fractions for any numbers in the expresswn Use a comma to separate
answers as needed.) 9 m — /,T =
7 0 N
B. The domain is {x| x is any real number}. ) f’ J U7 e 5 \

f_/f(, 7 //,-] { ;j/)( — f) < :.'l

(©) Find (f+ 9)(). Zox Cm Y xt56X —7 < \( ) S

l./

(feg)(x) = (Simplify your answer.) .-
—_— Qe 57,~7 =) -
What is the domain of f+ g? Select the correct choice below and, if ‘necessary, fill in the answer box to complete your choice.
A. The domain is {x }
(Use integers or fractions for any numbers in the expressmn Use a comma to separate §
answers as needed.) ‘f(:v( A IX~
/ .
B. The domain is {x| x is any real number}. j )() . j)(,—/—f— | €OT /
( =
f TP FX=f
(d) Find | — | (). 7 /}( £7. N A \
9 ) J,m N I L
J ‘( P { / (‘ (J ‘/‘ | 2?—; i

f :
(EJ )= (Simplify your answer.) \ : /\?

— g ek

A
f g
What is the domain of E’? Select the correct choice below and, if necessary, fill in the answer bux to complete your choic

A. The domain is {x }
(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) (/ / 7)[)// =/ 2x- A

B. The domainis {XI X is any real number}.
(e) Find (f+ g)(4). ﬂ/ 9 )/c,y z [UY / b/ G
ﬁ@fjw ¢vr C

(6(2/7 sy 3§i§/

8/2/2019, 7:14 AM
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(f+a))=____ (Type aninteger or a simplified fraction.) (_A 5 ) =~
(9 Find (f- 9)(3). (# o) (3] ~H3 )Y
f-9@)= (Type an integer or a simplified fraction.) = Ll ’E_'__"'_Z__ _f .j”/
(9) Find (f+ 9)(2) ((kﬁ g =¥ ) —
(f-9)(2)= (Type an integer or a simplified fraction.)" — - . c
(h) Find (f]m (/“ 2)/%’/ - X H sU~T]
2f B - .

[é] (M=___ | (Typeaninteger or a simplified fraction.) (fi ’ 5) ( é) )
(r))(z)h,”(’c*(?f St —="/
("“’0/ Nz 127 /%7 =
N

-4x+8 L('/,_ //(,L)v &Z\ ._\ —

B. The domain is {xl x is any real number}. —~— =

Answers 12x+6

B. The domain is {x| X is any real number}.

32x° +52x -7 .—i-- ) %(-7‘ 7

i ] — T ——
B. The domain is {x| x is any real number}. (ﬁ )/ . YA — (
4x+7

1
A. The domain is {x| X#F -

8x - 1 r”ﬂ ie _ A AT
_ @',)U) E e—

8
(Use integers or fractions for any numbers in the expression.-Use a comma to separate answers as needed.)

¥7
54 (/ ?) ﬁ ) — /i//
: T Hm - £ ¢

ID: 1.1.67
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6. For the given functions f and g, complete parts (a)-(h). For parts (a)-(d), also find the domain.

) =x - 1; gx) = 3x° £ : ;‘I
=T R R ey
(@) Find (f+ g)(x). 1/0/
- ( — 2, ./W /

(f+g)(x) = (Simplify your answer) 3)( Xo— |
What is the domain of f+ g? Select the correct choice below and, if necessary, fill in the answer box to complete your
choice.

A. The domain is {x| 3.

(Use integers or fractions for any numbers in the expression. Use a comma to separate

answers as needed.) / w ~— j(x) -

B. Thed ini i i ber}.
e domain is {x| x is any real number} ()(_. ) _ (5)( ! )
(b) Find (f- g)(x). X =3¢t
(f-g)) = (Simplify your answer) ,,_3-)( (& e —( = j N (’M‘W/ M

What is the domain of f— g? Select the correct choice below and, if necessary, fil in the answer box to complete your

4 b, )

choice.
) A. The domain is {x }
(Use integers or fractions for any numbers in the expressron Use a comma to separate
answers as needed.) /6¢) ® 564 < L/ / kJ
B. The domain is {x| x is any real number}. - U~ .
(c) Find (f- g)(x). 1 = ‘ P
(feg)(x)= (Simplify your answer.) —

What is the domain of f- g? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x| } M

(Use integers or fractions for any numbers in the expressmn Use a comma to separate 7 .
answers as needed.) e &

YK\ — =z T =

B. The domain is {xl x is any real number}. - &) 3 !

l’_j = (‘ = ./‘/ D e S . ” f

N R 2 R X =
f oy 3 7 \ 7
(@ Find | =] (). — f SO N =
30t ) Wteve

f _ WS - /£ J
(5] x)= | (Simplify your answer.) j/T (} ¥

f
What is the domain of E? Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The domain is {x| 3.
(Use integers or fractions for any numbers in the expression. Use a comma to separate
answers as needed.) ‘/" }) 6() - 3{ (S /

B. The domain is {x|xis any real number}. r/t- }(3) 3 /‘272%/5/ /
() Find (f+g)(3). (/, sA3y =3 (3)(3) (3 —/

Crs)ls) =21 €2 —
d/ﬁ»ﬁ) 7"

50f44 8/2/2019, 7:14 AM



finalm1314COC049sulllljjRZ-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v1/print/math

(f+9)(3)= (Type an integer or a simplified fraction.) . ; T
— (Z,Q/(x’)zvfﬁ)f - f
(F=5)1(2 ) = =3(Z) "~F(e)—/(
f-g)2)= (Type an integer or a simplified fraction.)

"{ =5 )(1) = 3 (D) (e —/
Fs)(2) = ~—('¢~r»—/
/() /

(fe-9)4)= (Type an integer or a simplified fracho ]- e
e T
(r N _}/ (){) - 3)( = X
(é} )= (Type an integer or a simplified fractlon)(/ c*/ /C/) - 3 (qxj — 3 /CK)
(,~ NG) N 3 ()
& .. p
B. The domain is {x| x is any real number}. { j }f c_// /(f Z \l:/ ~b/| \
-3x% +x—-1 j)/c/ /‘T,L/ ~f ‘!g’
T RG ){@ v

(f) Find (f- 9)(2).

(g) Find (f+ g)(4).

o
(h) Find {g } 3).

Answers 3x2 +x-1

B. The domain is {x[ X is any real number}.

ﬁ/ /
3 - 3x% 6 )ﬁ(/ < o /[‘\
B. The domain is {x| x is any real number}. (}/ / )

= fﬁp”z ;@ﬁ

3x2

A. The domain is {x| x#0 }- ﬁ )(S} ;’(?/f@)

(Use integers or fractions for any numbers in e expression. Use a comma to separate answers as needed.)

29
-1
144
2
27
ID: 1.1.69 = —_——
—
7. f(x + h) - f(x)
Find the difference quotient of f; that is, find ——————, h#£0, for the following function. Be sure to simplify.

(@w ﬂwz+ﬂﬂkamﬁ
fx)=x? - 8x + 3 1
f(X+h) f(x) ()(N\)(y’ /‘:/-—Y,{ —Fh-€") ~;( Tg,( )~
f -
X—f'/(ﬁ’(‘)(l\#ﬁL*%( ~jk—f$ X —rff\’

Answer: 2x+h -8 =t

q
D:1.183 <X h# A /n L-Z’) -

7’/1’~+ 5; ¥ 2—X th— T =\
6ofdd—_ —— 8/2/2019,7:14 AM
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8. Given f(x) = x?2 - 2x + 2, find the value(s) for x such that f(x) = 17.

The solution set is { ?}.

Answer: - 3,5

ID: 1.1.91

C
Lt e < T

)(“-ZK%-Z —(7 <A77
¥'—2(-/5 = O
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9. Using the given graph of the function f, find the following.

(a) the intercepts, if any
(b) its domain and range Co'ﬂ (

(c) the intervals on which it is increasing, decreasing, or constant ( ,b"_} 2 '5 | ')
(d) whether itis even, odd, or neither o ! h /__ b Z .
4 2

)( Q‘) -2- (L/J')‘

N
/\

%
\/‘
(a) What are the @‘;}\’ {*/ A
A~ f:*f/ o) (2, 0> (Ol 0
tgimplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
(b) Theomainis | -3 : S.J = 0 p/ £ Ei A 747
(Type your answer in interval fiotation.) /
Thqf_"rafr@_é_ja’ 7] f*_g. [ b\; Hovrn ) [Op -K

(Type y6ur answer in interval notation.)

(c) On which interval(s) is the graph increasing? Select the correct choice below and fill in any answer boxes within your
choice.

O A. The graph @easing;ﬁ [_,/ 0] EZ/ ;J
(Type your answer in interval notation. Use a comma to separate answers as needed.)
(0 B. The graph is not increasing on any interval.

On which interval(s) is the graph decreasing? Select the correct choice below and fill in any answer boxes within your
choice.

A. The graph i€d creasﬁwo ["*Sf —_ I‘J C(?) ’Zj
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not decreasing on any interval.

On which interval(s) is the graph constant? Select the correct choice below and fill in any answer boxes within your choice.

A. The graph is constant on -
(Type your answer in interval notation. Use a comma to separate answers as needed.)

\;{B_ The graph is not constant on_any interval.

(d) The functionis (1)

(1) O odd:

& “‘é{‘-’/neither odd noreven. -~
even.

8 of 44 8/2/2019, 7:14 AM
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Answers (- 1,0),(2,0),(0,1)
[-3.3]
[0,1]

A. The graph is increasing on [-1,0],[2,3]
(Type your answer in interval notation. Use a comma to separate answers as needed.)

A. The graph is decreasing on [-3,-1],[0,2] ..
(Type your answer in interval notation. Use a comma to separate answers as needed.)

B. The graph is not constant on any interval.

(1) neither odd nor even.

ID: 1.3.25
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10. The function f is defined as follows.
-3x+4 ifx<1
f(x) =
2x—1 ifxz1

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(a) T@mamofthefunctlonfls F..—- 1) & [/P/‘( /Z/)A fj

(Type your answer in interval notation.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. The intercept{") is/are (@) } c(-)
\ C
(Type anordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(c) Choose the correct graph below.

O A, O B.

(d) T{ne rang of the functlonfls‘_ELiﬁ) & Uﬂu—“ ‘MJ TO P

(Type your-dnswer in interval notation.)

Answers (- 00,00)

A. The intercept(s) is/are | (0,4)
(Type an ordered pair. Use a comma to separate answers as needed.)

TZ{/C}”) U s ch }/;Z
A—mm < =2\ :
x~mef = (2 ) C ef e
° "7’-/7’”5’) ~—(0 /

[1.0) G =M =/,

ID: 1.4.33 =< O P&
| 7/_‘:—”/"’* 7 ""‘()(< D Crole

f “’% ,LA

Clo

100faa 8/2/2019, 7:14 AM
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11. The function f is defined as follows.

4+4x ifx<0
f(x)=
X2 if x=0

(a) Find the domain of the function.
(b) Locate any intercepts.

(c) Graph the function.

(d) Based on the graph, find the range.

(@) Th ﬂﬁ;ah thefunctionfis"--gf‘f! Oﬂ){("z“‘ ﬁ)/. /J

(Type yo SursRewer in interval notati n.)

(b) Locate any intercepts. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

~"

A Th(-{ nterceptl:s) is/are (‘ [ ) op; @ ()) A"’

(Type an ordered pair. Use a comma to separate answers as needed.)

() B. There are no intercepts.

(o) Ch9_c_>_se the correct graph of f(x) below.

O c. O Db,
N
y
5_
o) ]
X X

m e g e r
5 ] 5 5

(d) Thgnge’ofthe function fis | [ = /‘f! (’?C) é"(é}#JM '7\() F-Z

(Type r answer in interval notation.)

Answers ( — 00,00)

A. The intercept(s) is/fare (-1,0),(0,0) .
(Type an ordered pair. Use a comma to separate . answers as needed.)

“'-.

¢ L.o(o‘v D : 4 '
. )( //((

X =M = 2] ) CC/C;/Q,J—V

7 —M 15
ID: 1.4.37 “7”/% 2=/ ‘7/ /

/
/

- —CQ /I

(= 00,00)

LLof 44 {2019, 7:14 AM
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12. The graph of a function f is illustrated to the right. Use the graph of f as the first step
toward graphing each of the following functions.

(a) F(x)=f(x)+2 (b) G(x) =f(x + 3) (c) P(x)= - f(x)

1
(d) Hx) =f(x +2) - 3 () Qi) = 5f(x) (M g(x) =f(-x)

(9) h(x) =f(2x)

(a) Choose the correct graph of F(x) =f(x) + 2 below. e

1
(e) Choose the correct graph of Q(x) = Ef(x) below.

12 of 44 8/2/2019, 7:14 AM
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Answers

3
=20 |

ID: 1.5.63

14 of 44
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13.
(a) Graph f(x) = [x - 7| ~ 2 using transformations. Ay
(b) Find the area of the region bounded by f and the x-axis TO:
that lies below the x-axis. 8-
(a) Graph f(x). 6'_
(Use the graphing tool provided to graph the function.) 4*_
2
(b) The area of the region bounded by f and the x-axis that ] y
lies below the x-axis is square units. ey e gy " ; =1
(Simplify your answer.) 0 B G &% -2 2‘ 2 4 & & W
4
&

Answers

\47 —177 Ly’uv:}»ﬂl' (0) g)

4 a,-v) U ¢ 51/(:/}/4;
5] / ol b )

-ml %' ,W\ 6. Ly /

ID: 1.5.81
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that it is prime. /(,;'
x? +18x+77 pal ( 7) 6_/”;“\ s

Select the correct choice below and fill in any answer boxes Wlthln _YOL ( chmce C /?( ( f <

O A 2 4 1axs 77 0{/( ]) (X“('/()»-
(") B. The polynomial is prime. X' ,7r. ///\ L 7/(”f '77 =

14. CFactor the given polynomial completely. If the polynomial.cannet-be-factered

Answer: A. X° +18x + 77 = (x+7)(x+11) X( / /f/(‘ - g 77 =
(}(} /g / e

ID: 2.3.1
15) @g t_rle_equatlon/ /) t./" Y—n i = O/Z, I XA =D

(x-8)3x+5)=0 Gt gevry O SXts—s=0"%
The solution set is { } (Use a comma to separate answers as needed.) 3 / _ —-<

.y
Answer: 5 C(r;/tflﬁ & 18 ,__3,35‘— = ‘-'_S:__
8.- E g -5

-

e =S
ID: 2.3.3 ()(“ /};

——

e =

16. Find thg\eros oﬂ the quadratic function by factonng “What are the x-intercepts of the graph of the function?
F(x)= X +x-2

Select the correct choice below and fill in the answer box to complete your choice.
(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are
are

, the x-intercepts

) B.

Answer: A. The zeros and the x-intercepts are the same. They are -2,

ID: 2.3.17 )/ ’_f’\/ Z

=1+ ] =0/

8/2/2019, 7:14 AM
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: ? /‘ /2'_ 561 [g{
17. Find the : zea;os of the quadratic function by{factonng What are the x-intercepts of the graph of the function?

> g)( —/oK — 6’7 o

4 2) O 4 -
Select the correct choice below and fill in the answer box to complete your choice.

(Use a comma to separate answers as needed. Type an integer or a simplified fraction.)

— g/( — L= O
() A. The zeros and the x-intercepts are the same. They are 3/( "'Iﬁ Z 4 O )( %
The zeros and the x-intercepts are different. The zeros are L the x-intgvkg)ts )
OB are 3/(..'42—220”/1/ /k/v'y”b.(/—
b ¥ =~ [

Answer: A. The zeros and the x-intercepts are the same. They are -—4

BX -l

3
e, - e
ID: 2.3.19 G/--k?’:gjﬂ)

g(x)=3x* - 10x- 8

18. Find th@os of the foIIowmg/wﬂ;hc function by | factormg,‘What are the x-mtercepts of the graph of the function? 4] ¢ l’) E‘ )

(X7 1Y) A =0
Xt (Cx+rys = O

Select the correct choice below and fill in the answer box to complete your choice.

. H )
(Simplify your answer. Use a comma to separate answers as needed.) C,( 7«« t;) (){ ‘—f‘ Cf) — ) 1 5_/

) A. The zeros and the x-intercepts are the same. They are )( — /L i =
5= O (¢ G

g(x)=x(x+14) +45

The zeros and the x-intercepts are different. The zeros are

, the x-intercepts =
OB e , X~+c—% LL} sT L XSG~ 7"0*7
X == D oa A ==
Answer: A. The zeros and the x-intercepts are the same. They are -5-9
ID: 2.3.23

— m—— e

——

——

19. Find th@f the quadratic function using the square root method. What are the x-intercepts of the graph of the

function (l/"'() - ( - Wr_‘,‘/—

900 == 1%~ i)’ / X-1)==>37

-

Select the correct choice below an ﬁll in the answer bnx to complete your choice. X— | = 3
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) X— = ,_.:3 oL /( o [< 3

() A. The zeros and the x-intercepts are the same. They are

The zeros and the x-intercepts are different. The zeros are

, the x-intercepts [ ~ C
are . )(,— , ~+| = 3
cy=——Z> 0%
Answer: A. The zeros and the x-intercepts are the same. They are 4,-2
ID: 2.3.29
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Hel = W 26w+

—

Q»/_ 56 L = (/
20. Find the\r’eal zerog, if ap}/ of the quadratic functlon ﬁsmg the(quadratlc formula. What are the x-intercepts, if any, of the

graphoftﬁerfuncﬁon"r'/ X,._ b'f I 'Yé < —(G) TW ;F‘)Z; —G+ r—-————sg’ i ]
f(X)=X +6x+4 PN Z/((} Z_ ——

e Gr /e
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ;
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to

separate answers as needed.) /Y — M

—

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
LA are ) ,(_'.“ ~G 2 Ve (/S—""
"y B. The zeros and the x-intercepts are the same. They are v . 2
- _ . . )( T —6 TV
» €. Thereis no real zero solution and no x-intercept. N—i“
. 2. S

Answer: B. The zeros and the x—mtercepts are the same. They are =3+ 1/5 - «/_ / b x o

(/Y a-3 1“/@' O =35 ) A= 5 e
ID: 2.3.41

e — = —_— — — _\ —_——

//4-""’—__“-\
21. Fmd the zeros\lf any, of the:quadratic functiory using the drati ula What are the x-mtercepts if any, of the graph ’d,
wi’

of the furiction? (,_L *(f_f-Z:_‘f“L‘ / xSzt + 17
=8 +11+20x R S g{ s }p) 2;) ‘=

e ausill J
Select the correct choice below and, if necessary, fill in the answer box to complete youlr choice.
(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.)

The zeros and the x-intercepts are different. The zeros are , the x-intercepts
A =

- VE »(ZL?)"’“VIC'S) G0
(" B. The zeros and the x-intercepts are the same. They are J 2 (C’f )
{1 €. Thereis no real zero solution and no x-intercept. 4

X = —20*|[Poe —>5¢
= -
| =5+43 -5-43 &

Answer: B. The zeros and the x-intercepts are the same. They are 4 , 4 Y'Z > f 47- — —
r— /6 e —
ID: 2.3.47 . =L "f 6>
— _______.____q_

/e

/t/: "ZU"L’L/@

/G
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22. Findth real zeros\if a fthe followm quaclratlc functlon using the quadratlc formula at are the x-intercepts, if any,

of the graphof neti n‘? =2 & ,”.J ,’g ‘;’&c =3 H/ 7((043 5
G(X)=2x(x+2) -5 ’-Z/ b / C=-3 X .(_l 2%) -

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

(Simplify your answer, including any radicals. Use integers or fractions for any numbers in the expression. Use a comma to
separate answers as needed.) p __,9 TV?G f-.{, o

E s ! (‘l
The zeros and the x-intercepts are different. The zeros are , the x-Inter)c( pts

are . {_ ~g+(/’7r/\_

() €. There is no real zero solution and no x-intercept. \/ -g,_

X= ~¢ L 0La72
Answer: A. The zeros _Z.H/_ -2- ‘/_‘ h?\—
1'; e L ’TT

() A. The zeros and the x-intercepts are the same. They are

) B.

o ID: 2.3.49
= ——
23. Match the graph with the following function. {,/ V’/J) cﬂ’/ ( 5 D )
f(x) = x2 + 10x + 25 ul“l'-\/t’/tw,(f /O z>
Choose the correct graph below. \\b o )’b( ( 3/ ())

Q C. ) D.

SVepky

J-tﬂ ((._ s (LJ
-14 e _’»(_ o — ~————‘)
b}l cX /A 25
A. 2
ID: 2.4.15 o
k“—_—_‘———___
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24. Match the function f(x) = X% — 4x + 3 to one of the given graphs.

Choose the correct graph below.

() A,

S e ?
i— Moy = — 2N W 5v uf/u") Ce /C ——*{;Ld/

Answer: X~ }«.\L}( = [ L

] 3 . . -
e el I{,’% =T = 5;’__\

A | A sl ts Clo) (@ \

(o} - Ktj'-y\‘!/dx}ﬂf‘ /O 3)

) r( 2 - v T~
ID: 2.4.17 ((ertex = (/ () @\

25, Match the function f(x) = x2 — 4x to one of the given graphs.

Choose the correct graph below.

™ T—

ID: 2.4.19

A=Ayt (0)0) g L% ﬂ)\
‘ \'9 — I LP/C&% (() C)) - Y
< vebix = (2,-%) Pl

o
20 of 44 8/2/2019, 7:14 AM
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26.
Graph the function f(x) = (x + 3)2 — 4 by starting with the il
graph of y = x° and using transformations (shifting,
stretching/compressing, and/or reflecting). 8
B
Select all the transformations needed to graph the given ’
=
function using y = x2. .
24
[C] A. Shift the graph to the left 3 units. ] R,
| === == | 1. r 1 ¥ 1 T Lt (S N N R AT
[[] B. Reflect the graph about the y-axis. 10 -8 6 4 -2 2 4 6 8 10
-2-
[[] €. Shift the graph to the right 3 units. |
[[] D. Reflect the graph about the x-axis. “H
]
(] E. Compress the graph vertically by a -6
factor of 4.
[] F. Shift the graph down 4 units. 8-
[] G. Stretch the graph vertically by a factor of -10-
3.

[] H. Shift the graph up 4 units.

Use the graphing tool to graph the function.

Answers A. Shift the graph to the left 3 units., F. Shift the graph down 4 units.

e £51° |y 0) frtnliep
A I R R -
v = Pairl
2 Uoe DY LJ D
‘ )-1 C,c. / C L-V/( ‘—"fv"
ol | ) 5 _
yer UL _ﬁ ’S) - i
M ol -4//ﬂ/t TN
/xJ \V\V{ o . & l( { 1 l J |
; '\‘ % ] . b /’ \.:-J/\ [
ID: 2.4.23-Setup & Solve )«./ /f"’“ﬁ = U AR / &
[ - f{ Jing )(Z = L7 [ i /’5 Y il /(_{v
«7 /hﬂq = —(7 /’
— - X
:7 "/"‘4)( - /J / W"‘y) —_
P —— :
— 212019-7:14 AM
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27.
Graph the function f(x) = x> + 10x + 24 by starting with the 1'34“.
graph of y = x* and using transformations (shifting, 1
stretching/compressing, and/or reflecting). 8-

Select all the transformations needed to graph the given

function using y = X ]
2=
[C] A. Stretch the graph vertically by a factor of 1 X
10. 40 8 B 4 2 | 2 4 6 & 10
[[] B. Shift the graph up 1 unit. -2
[] €. Shift the graph to the right 5 units. .4.:
[] D. Shift the graph down 1 unit. t:—
[[] E. Reflect the graph about the x-axis. EJ

[ ] F. Compress the graph vertically by a
factor of 1. A0

[] G. Reflect the graph about the y-axis.
[] H. Shift the graph to the left 5 units.

Use the graphing tool to graph the function.

Answers D. Shift the graph down 1 unit., H. Shift the graph to the left 5 units. P

Ay
10~

- lert o)

(;f §} - ')
\/{:,"‘f_}f‘fiﬁ B
m (A -ﬂ-j

e 2 ; N
AL, e C’ |- X "—/'/ uxF LY :]

ID: 2.4.25-Setup & Solve )(r_m v L e
— — X‘—_'ﬁ}'}.‘\ (”’(ifl _ - O e N

\jrmt% = —f2 .“'
b),-)q,,k)( = /9 , |

22 of 34— 8/2/2019, 7:14 AM
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28.
Graph the function f(x) = - X% - 4x by starting with the graph

ofy= x2 and using transformations (shifting,
stretching/compressing, and/or reflecting).

Select all the transformations needed to graph the given
function using y = X2

[ ] A. Compress the graph vertically by a
factor of 4.

[]B.
[]c.
[]D.
[]E.
OF
[]G.

Reflect the graph about the x-axis.
Shift the graph up 4 units.

Shift the graph down 4 units.

Shift the graph to the right 2 units.
Reflect the graph about the y-axis.

Stretch the graph vertically by a factor of
-2
[[] H. Shift the graph to the left 2 units.

Use the graphing tool to graph the function.

-20

-16

=12

https://xlitemprod.pearsoncmg.com/api/v1/print/math

1 %
LS LA T A0 AR S e e o e o

8 4 | 4 8 12 16 20

m.

207

Answers B. Reflect the graph about the x-axis., C. Shift the graph up 4 units., H. Shift the graph to the left 2 units.

Ay
20+

16—"
. e/(.zlx 3
Ve

ad
(2 j'f) ]

("“?’ / 0!).

/(.,h.\ [f/aﬂ s 8

20 -16 12 -8

~16-

-203
Lifi koo

ID: 2.4.29-Setup & Solve

KoL =" i
"’) ~ }’)'l (A Pty '—_/3

Y —Mix =12

X'/’M A < —/ L
\

.')
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,--;,LC»L
7~ For the quadratic function f(x) = x? - 2x -3, answer parts (a) zn—m
K\r through (c).

Y| .

16-

(a) Graph the quadratic function by determining whether its 19
graph opens up or down and by finding its vertex, axis of

symmetry, y-intercept, and x-intercepts, if any. 8-

Does the graph of f open up or down? 1

down 2 -6 12 8 -4 | 4 8 12 16 20
up

What are the coordinates of the vertex?

The vertex of the parabola is \:'

(Type an ordered pair. Use integers or fractions for any -164_
numbers in the expression.) ]

20-
What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is/are the x-intercept(s)? Select the correct choice below
and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

What is the y-intercept? Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

Use the graphing tool to graph the function.

{b) Determine the domain and the range of the function.

The domain of fis I
(Type your answer in interval notation.)

The range of fis |
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is
decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

25 of 44 8/2/2019, 7:14 AM
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Answers up
(1,-4)
x=1

A. The x-intercept(s) is/are 3,-1
(Type an integer or a decimal. Use a comma to separate answers as needed.)

A. The y-intercept is -3 .(Type an integer or a decimal.) - s

Ay
20-

b apga G ] JO02) Xoorl s

T,
o
BT

(= 0o0,0)
[-4,0)
[1,00)

(=00,1]

ID: 2.4.37
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o

~
 For the quadratic function f(x) = x2 =2x+1, answer parts (a)
(}) through (c).

p

(a) Graph the quadratic function by determining whether its
graph opens up or down and by finding its vertex, axis of
symmetry, y-intercept, and x-intercepts, if any.

Does the graph of f open up or down?
down
up

What are the coordinates of the vertex?

The vertex of the parabola is ;
(Type an ordered pair. Use integers or fractions for any
numbers in the expression.)

What is the equation of the axis of symmetry?

The axis of symmetry is
(Type an equation.)

What is the y-intercept? Select the correct choice below and, if

necessary, fill in the answer box to complete your choice.

A. The y-intercept is
(Type an integer or a decimal.)

B. There is no y-intercept.

What is/are the x-intercept(s)? Select the correct choice below

and, if necessary, fill in the answer box to complete your
choice.

A. The x-intercept(s) is/are

(Type an integer or a decimal. Use a
comma to separate answers as
needed.)

B. There are no x-intercepts.

Use the graphing tool to graph the function.

(b) Determine the domain and the range of the function.

The domain of fis :
(Type your answer in interval notation.)

The range of fis :
(Type your answer in interval notation.)

(c) Determine where the function is increasing and where it is

decreasing.

The function is increasing on the interval
(Type your answer in interval notation.)

28 of 44
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Answers up
(1,0)
x=1
A. The y-intercept is 1 .(Type an integer or a decimal.)
A. The x-intercept(s) is/are ' 1

(Type an integer or a decimal. Use a comma to separate answers as needed.)

Ay
20-

%' ) L(/f-'r’"!f}A (O)‘) | (2}0 /’(:—"l [t‘*"t.'--a stj -/,

20 16 12 -8 -4 7 /4 8 12 16 20
(

4

X Ly

’
.15{ h’/\ f:\
(- 00,00) ou/(uw) - Y] py% j V&«//t}’
.00 Xy = /TN ' .
[1,00) 3 (Q [C»-(QJJ‘

(=00,1]

ID: 2.4.39
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31.

Deterr_ni_ne the quadratic function whose gr;

The quadratic function which describes the given graph is

below. | ()( 3)?_ f(x)
. fﬁ Y — ',_19 X)= o
Ay ___‘_./ (Type an expression.) :
20-‘ Qind- (0 H(‘) -‘_}? J—
: 4 <7 //j.:a(,(,—g) =
(= a(o-3) ~12 / 9= | (X=3) P

(= A(3) = gz 1 (k=3)(=8) =72

| b = G (=3 ) et 3L 3K FS) 2

-10 5 1 10 6{(?’)”/‘9 ‘-j’.‘-/()( )

<] =g~ - ()(7'-—-(,)('7“9)'
)Q/“‘?O 1) Y &, —\= Ja—I= |- ? . L G — D
) Yk s = 94T 0y X6 S
w/\\ﬂ}w) =20+ (3/#} -J\ q —_— 76\.«* o
.\L/ -ry\'tv\ G a
Answer: 2 _ gy — 1 ﬂ__z’ _//.-
7 9
ID: 2.4.49 =
32l.ﬁTD_et;r;ej without graphing, whether the given quadratic function h@ value or a minimum value then find
the value. N e /"l ()fa.f,v X Ll l/lL) C@
f(x)=—2x2+4x—7 {;5} = __(/( v i —7

. . A2 , bz¥ C==77
Does the quadratic funcho%%az? a minimum value or a maximum vdlue?

il
) The function f has a minimum value. Vﬁ'/f(,{_ = ('—?b' {(ﬁ%)>

@
) The function f has a maximum valye. A
What is this minimum or maximum va;l.lffe? Lp"x‘ 2 (‘-L) : 2(-t)/ "
il

(Simplify your answer.) VI'P’ Lﬁ)& —-— ( ":%— — )

ol
Answers The function f has a maximum value. / )
v o g — ( [ ) (} )

--5 .
Vekoy =1, =2 DEE A1) -7)

e Wy, g cppOen®(0=0)
'3 . P
Vel =(1, =2 %% =7 s

Verlex =1, 2- 7) /| u &) )
\/p/"/.)( - )) _ g—)

]

/77 txX /

T e —— e 8/2/2019, 7: —
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33. Use the rational zeros theorem to find all the real zeros of the polynomial function. Use the zeros to factor f over the real

numbers. L o
foc] = ¢ T30 L5 X ¢ | |
3 2 ‘
) = X2 = 3x° - 26% - 21 Liss, bls
®. / 4
Find the real zeros of f. Select the correct choice below and, if necessary, fill in the answer box to complete your answer.
Lest
(:) A' X= e /I/ bi
(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or
fractions for any rational numbers in the expression. Use a comma to separate answers as -t / ’
needed.) = =
() B. There are no real zeros. T ’

tl, £ YT

Use the real zeros to factor f. o Ly ,
)= |
(Simplify your answer. Type your answer in factored form. Type an exact answer, using radicals as needed. Use integers
or fractions for any rational numbers in the expression - 'T',_/‘ f < "7 -tJ'i F-‘——__‘_
s Syaddebcy 0T
Answers A.x= =3, =1,7 ((\L/ T

(Slmphfy your answer. Type an exact answer, using. radlmls(as neaded Use integers or fractions for any

7|

LU
Y —¢x—2ZO
(« +3) KD ==
Lk X~3¥yZ o0 oA X=7 <0
%4}2>0 EJ/ﬂ% ,(7T7_u+7

Slofdd— — _ 8/2/2019, 7:14 AM
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34. Use the rational zeros theg;em ;9 ﬁnd  all_the )éal zeros of the polynomial function. Use the zeros to factor f over the real’ N

xu’ﬁ(g M"]bffsh lwm (_u/l ¢ =& /¢ 2o r,g.»

=& S —y ¢/

2N o - J, TS, TY, T Y

fox)=x* +4x - 9x% - 16x+ 20 ] S —y  —zo C@ 4—50#:[‘«______{ /

What are the real zeros? Select the rrect ch0|ce below and, if necessary, fill in the answer box tommpiete youranswer N
r o= h'r’ _— Z_, 5= - . \.’{ b
(A x= — - ‘ .
@ o Lt )
(Simplify your answer. Type an exa f( swer us: A icals asn ed. 'Use mtegers or \.HH___ / - .

fractions for any rational numbers i \al]e expressmn e a comma&'to separate answers as b= = —=

needed.)

X +7K+(e=>
(X +8 (XFS) =

Use the real zeros to factor f. K~ 2 =0 On Kep & —a—<
X1 -—1 TUI™ . a Kot =K =

i) B. There are no real zeros.

f(x)=

(Simplify your answer. Type your answer in factored form. y'pe an exact answer; usmqrad:cals needed. Use integers
or fractions for any rational numbers in the- expressan ) /
cl fL

Answers A. x= L= 51,2,-2

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
rational numbers in the expression. Use a comma to separate answers as needed.)

(c+ 5)(x = 1)(x +2)(x=2) o S Pud
.- N

| Y e T
D 2253 A —

35. Solve the equation.in the real numper system. 2 Z{,( '-{’07[)( L ch)("( 0O
&frlzL__ //? 5,( -LZ 07/ "'"0/"( ()
L - 3 ;

3x —28x +81x" -84x+20=0 -2

5yn/u' ¢ —2 3 ~ 42
O A, x= t‘(\//)/ >/ ——— ——-(—l— _} 1

(Simplify your answer. Type an exact swer ‘usin rad Als as Usegl‘te ersor
fractions for any numbers in the expression. Use a comma\to separate nswers as needed.
Type each answer only once; do n{t dupllcate answers in the case of répeated roots.)

SR L ? %-f
( What are the real solutions of the: equahon;gléleit the correc{ ChLOIce below ar(d fill in any answer bg;ﬁs‘/t: your
{ “T~

("1 B. There are no real solutions. 3)‘{ —-—7 ,( —rz_ — @
Gx —x—2) =<
Answer: A, x= %, 2,5 3}(—/ = O o & X—7 co

(Simplify your answer. Type an exact answer, using radicals as needed. Use integers or fractions for any
numbers in the expression. Use a comma to separate answers as needed. Type each answer only once; do not
duplicate answers in the case of repeated roots.)

3|+ =/ O’/L A=t #2=07¢
ID: 3.2.67 3 /,, / :

32 oA —— 7 8/2/2019, 7:14 AM
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36. Find the\vertical ?‘anontal and obhque asymptotes if any, for the following rational function.
N 2 A LAlo = o
x+10 X~r0~ (o= G

.
Select the correct choice below and fill in any answer boxes within your choice.( A

R(x) =

() A. The vertical asymptote(s) is/are x = . /’
(Use a comma to separate answers as needed.) V/'%( """ i 7 . 5 \ /
S A O . .
B. There is no vertical asymptote. b hf) ge. > — -/ — b:f,\( " e y 5 / ’f/ ' >
f]tlj‘.__v‘, /‘b’\ L)Uf!Jv\_‘r ’/-(I ..-—n'-.
Select the correct choice below and fill in any answer boxes within your choice. ~~~ “/* "
- =ik =
- o )’l urilFen ‘{"4
. A. The horizontal asymptote(s) is/are y = A ( j . Y C S )7,7 ,[U 4 7
(Use a comma to separate answers as needed.) e 7

() B. There is no horizontal asymptote.

Select the correct choice below and fill in any answer boxes within ynur choice. ﬁ’t U U h arAe

61,7pv)/ {udk 5:%9( /JLW‘/ N o

VA V Sha. 3
Auw»\;#w, ! /

() A. The oblique asymptote(s) is/are y = . (
(Use a comma to separate answers as heeded.) N AU vk S¢- 1

() B. There is no oblique asymptote. s _

Answers A. The vertical asymptote(s) is/are x = -10 .(Use a comma to separate answers as needed.)

A. The horizontal asymptote(s) is/are y = 8 .(Use a comma to separate answers as needed.)

B. There is no oblique asymptote.

ID: 3.4.45
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37. For f(x) = 4x + 9 and g(x) = 9%, find the following composite functions and state the domain of eaeh

34 0f 44

@) fog () gof (c) fof (d) gog ( v g JK] ~ C‘L b iR ,

p e — 1
(@) (Fog)(x) = (Simplify your answer.) 7L S '<) ) : ( : /

Select the correct choice below and fill in any answer boxes wnhm your%gloe “( ?‘ ?() I c? - /

3 30(7“( =

4

() A. The domain of fo g is {x| }
(Type an inequality. Use integers or fractions for any nhumbers | |n the expressmn Use a
comma to separate answers as needed.) (/ () |
() B. The domain of f o g is all real humbers. /( '( e )
(b) (goH(x) = (Simplify your answer.) /) ( '7/ i q )) s \

xfrt)

Select the correct choice below and fill in any answer boxes within your clgtqmg, =

- 5

C axt F1=0

© A. The domain of g o fis {x | }- ~— —
(Type an inequality. Use integers or fractions for any numbers in j,he exprassmn Use a
comma to separate answers as needed.) ( =
(O B. The domain of g o f is all real numbers. ( /;/ \ )
(c) (fof)(x) = (Simplify your answer.) / ( ‘f)(*f 4 ) I ) e
Hoird) 5 =/ COber N\
Select the correct choice below and fill in any answer boxes within your'choice, ]
foxot 2.6+ 3 (o2 /1//
O A. Thedomalnoffofls{x| } C (,x/ ~ (/3
(Type an inequality. Use integers or fractions for any numbers n the expression. Use a gy )
comma to separate answers as needed.) / § J) Ve ) -
() B. The domain of f o fis all real numbers. el 1 :
9( 569) _
(d)(gog)x)= (Simplify your answer.) i e =
g9 < ¢

Select the correct choice below and fill in any answer boxes within your choice. .

A. The domain ofgo gis {x | b ? ( ?‘{)) t//

(Type an inequality. Use integers or fractions for any numbers in the exp:ess{0n Use a

comma to separate answers as needed.) Q J/’ )(

() B. The domain of g o g is all real numbers.

Answers 36x + 9
B. The domain of f o g is all real numbers.
36x + 81
B. The domain of g o f is all real numbers.
16x + 45
B. The domain of f o fis all real numbers.
81x

B. The domain of g o g is all real numbers.
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38. For f(x)=3x+3 and g(x) = xz, find the following composite functions and state the domain of each.
(@ fog  (b) gof (0) fof @ gog (KoLl

(a) fog)(x) = (Simplify your answer.) J ( /(’() ) S ]

Select the correct choice below and, if necessary, fill in the answer box within your cho:ce ( M 0/

L)
(0 A. The domain of fogis {x | A)(

(Type an inequality. Use mtegég 6???5&|6ns for any nljrgnberé/ the expresston Use E ¥
comma to separate answers as needed.) .\\ 3 ,( = N
(O B. The domain of f o g is all real numbers.

(b) (g o H(x) = | | (Simplify your answer.) 60 £ )5( 7 - j =

Select the correct choice below and, if necessary, fill in the answer box l;yith_ip—your\] choice. C . Ve Y
9 Ll 2% 4 J", < A\
) A. The doma.in ofg.ofis {x.|w___m “.“}- ) 311 ) 2. |
(Type an inequality. Use integers or fractions for any numbers ih the expression. Use a et v )
comma to separate answers as needed.) >l o ‘)/1 < - =
() B. The domain of g o fis all real numbers. . ' v e - =4
’ -‘,(,3/),/’31(«3)
(c) (fof)(x) = (Simplify your answer.) \(1 x,{ -+ r:? L~ 9 X+ 9 z

Select the correct choice below and, if necessary, fill in the answer box within your choice.

O A Thedomainoffofis{x|_ } ‘L’f)[ il / }//rf __Tﬂ :

(Type an inequality. Use integers or fractions for any numbers in the expression. Use a

comma to separate answers as needed.) ( A U 7[ )
") B. The domain of f o fis all real numbers. ( Va | ) —_
el
(d) (@og)(x) = (Simplify your answer.) /(3*4/5 ) Zrel =

Select the correct choice below and, if necessary, fill in the answer box within your choice.

(3)”":)#3 e

(O A. The domainofgogis {x| }

+ 3 I L )
(Type an inequality. Use integers or fractions for any numbers‘% the expression. Use ( /% /V (
comma to separate answers as needed.) q )( 4 /“xx,\ S //
(O B. The domain of g o g is all real numbers. "
Answers 3x° + 3 60 9, (;(}

B. The domain of f o g is all real numbers.

) =N
9x2+18x+9 // 7{ ) |

( 'L )
B. The domain of g o fis all real numbers. j X

9x+12

B. The domain of f o f is all real numbers.

X4

B. The domain of g o g is all real numbers.
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W /" The function f(x) = 6x - 3 is one-to-one.

/ (a) Find the inverse of f and check the answer.
J —
(b) Find the domain and the range of f and f 1.
(c) Graph f, f~ 1 , and y = x on the same coordinate axes.

-1
@f (x)=
(Simplify your answer. Use integers or fractions for any
numbers in the expression.)

(b) Find the domain of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The domain is {XIXS }
B. The domain is {xle }
C. The domain is {xlxaiLL }
D. The domain is the set of all real

numbers.

Find the range of f. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The range is {y]y # }
B. The range is {ylys }
C. Therangeis {y|y 2 }
D. The range is the set of all real numbers.

Find the domain of f~ L . Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

A. The domain is {x|x¢ }
B. The domain is {xle }
C. The domain is {x|x$ }

D. The domain is the set of ali real
numbers.

Find the range of f~ 1. Select the correct choice below and, if
necessary, fill in the answer box to complete your choice.

- Therangeis {ylys }
SR 3

D. The range is the set of all real numbers.

A
B. Therangeis {y|y #
C. Therangeis {ylya

(c) Graph f, f- 1, and y = x on the same coordinate axes. Use
the graphing tool to graph the functions.

https://xlitemprod.pearsoncmg.com/api/v1/print/math
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X+3
6

Answers

D. The domain is the set of all real numbers.

D. The range is the set of all real numbers.

D. The domain is the set of all real numbers. - /5 - =
D. The range is the set of all real numbers (97L o L /

ID: 4.2.53
40. Solve the equation. 6(/ X S [z r)<
— =
64~ X" 52 = 428

The solution set is { L. <2 j‘) i ot (27 & V€ Wi L(

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

~6X -+ 31T 5
Answer: 24 Z : 2 X Mb\/{/“

jfb wAs D

x4 217 = /x -
~Gx ’fﬁzf’i’—}’lt =7 —3iL
—6xX =/x —3/¢
—~6 X —7X = 7IX—32-7X

._/3& __:—'3/1
— "/3

u = -.
40 of 44 —#’—”"” 8/2/2019, 7:14 AM
\_____________
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41. Solve the equation.

log,(2x+1)=3

Change the given logarithmic equation to exponential form.

(Type an equation. Do not simplify.)

The solution set is ir.
(Simplify your answer. Use a comma to separate answers as needed.)

Answers oy 4 { = 23

—

ID: 4.4.91-Setup & Solve

l\ttps:HxiWcumoncmg.com/api/vI/print/math

P

S ——

231 ol el AR

los,
Te

2.7 2 =~ CAr )/
Y=< Uk | e
C‘_,/\{ i3 .f‘//'_. /

/,

~ —
,-/ Z

7

2

42. Solve the following logarithmic equation.

loggx=3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A.

O B.

The solution set is { }

(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.)

There is no solution.

Answer: A. The solution set is { 125 }

ID: 4.6.5

4] of 44

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

| €
¢
L

'S,’—';:)( }/'f‘/\/f/Z
X

e
j—

.5 g
s =X >N
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43. Solve the following logarithmic equation. 4 ‘I%
t..-( = - b
log ,(5x) = 4 2 = F¥% //'(“ hs 7 ,J C
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A7 < 5

) A. The solution set is { b
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.) / 6< I X

{3y B. There is no solution. - .

ﬁé i, S,__)S
16 S

Answer: A, The solution set is 4 ? "

(Simplify your answer. Type an exact answer. Use a comma toseparate answers as needed.)

CHf=x >

ID: 4.6.7 = y )
44, Solve the following logarithmic equation. /"’76 ()\[{ {) = {V‘j 6 //7
log g(x+6) = log 57 Xt G = 7 YW"‘LU

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. )

XrG—6 T T—%

() A. The solution set is { }
(Simplify your answer. Type an exact answer. Use a comma to separate answers as
needed.) RS

= N
() B. There is no solution.

Answer: A. The solution set is { 1 }~

(Simplify your answer. Type an exact answer. Use a comma to separate answers as needed.)

ID:4.6.9 —
e - fg,"ﬂ?i—‘f
45, Flnd the amount that results from the glven investment. A‘ / ( /’f'
$400 mvested a 5°/jcompoundee’quarteryaﬂer a period pf (4 yea:;s '
e

After 4 years, the investmentresultsin$ /4 %0 p / / ot c_ g5

(Round to the nearest cent as needed.)

Answer: 487.96 A Q(/U ( /__f ‘6’) )

D:477 /1 5 _;/OJ ( /——f {/J/(/) A ‘¢
= "%‘ Pl ssp/50

("hé

M o JlonS
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46. Find the amount that results from the glven mvestment (L / g 60( g,} .
= ; F =
$400}nvested Qs% compounded daily éﬂer a period of 4 year% = i 4
36> / - [“39Y;
After 4 years, the investment results in $ /5»1,0// /" -3

(Round to the nearest cent as needed.) / c/(U (/"f g r/; (a) /’r -~ $,
A- C”*L’( (A v0s/30) N#5- =05
C A= 2534, S fy p=367

on £ =B |
_van  Categies o/ N7

Answer: 488.55

_'___________._.-q—-—"'-_-__
47. How many years will it take for an.initial tnvestment of P\,‘w ,000 to grow to $35,0007 Assumﬂ?ﬁté*ﬁflntm}@ﬁ of 19% —— e
mpounded contmu*ous - sl A 1 P=pv
oGoounied it U/fe Chomde Vi) B ) e

It will take about | years for the mvestment ‘73'0“’ to’ $35 000,;” /3 5-) — /9L /»;/f =t a1
(Round to two decu‘nal places as needed. } /

3sgue - /UCJU/C\ /2 Y)ﬁ SARED
Answer: 6.59 L {»\_{j, S) /5( 'fzohm o

.“_ 3 < Ui - j/L _
/\.. QU > [Z
ID: 4.7.41 P S i=§:;ii____:fé;é_l_}rﬁx!}05 -(<:::i€:} <

659
48. Solve the system of equations. If the system has no solution, say that it is inconsistent. /‘5‘ J( 3 f =
rAfE {/ ?( — 3 - — 7
{ e 7 2

{ 4x -3y=-1 , (S_ ~+3Y - iqf { Z--w.\\‘
| 5x +y =13 | | / )< /}X (/ /5 >

() A. The solution of the system is x = andy= B ‘{(2 — 3 7
(Type an integers or simplified fractions.) - /

() B. There are infinitely many solutions. Using ordered pairs, the solution can be en as

{xwix=_ yanyreal number}. c(b:} }7 ~—/’ *(-— 5

(Simplify your answer. Type an expression using y as the variable as neede

() €. The system is inconsistent. . 2 7 - 0
. . | ~39 - =l
Answer: A. The solution of the system is x = 2 landy=| 3 e —~7
(Type an integers or simplified fractions.) =3

: fj s % \_;}
= ( 25 )( =

ID: 6.1.33 o /;i;ﬁg_
&ﬁ 7
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49. Solve the given system of equations. If the system has no solution, say that it is inconsistent.

24
2x+ y+ z 6
-2x+3y—-3z=-22

X =3y + 4z

Select the correct choice below and fill in any answer boxes within your choice.

() A, The solution is x = J Y= ,andz= . (Type
integers or simplified fractions.)

() B. There are infinitely many solutions. Using ordered triplets, they can be expressed as
{xy2) |x= y= , z any real number}.

(Simplify your answers. Type expresswns usmg z as the variable as needed. ) ——

- \\-,_
() €. There are infinitely many solutions. Using ordered triplets, they can be expressed as '
{(x Y.2) | x= ,yany real number, z any real number}
(Simplify your answer. Type an expression using y and z as the variables as needed ) / ﬁ /
(_) D. The system is inconsistent. ? ' )/f'(
Answer: A. ' '
The solution is x = 2 VY= -2 ,and z= 4 ‘! .. (Type integers or simpfified
fractions.) S, s
ID: 6.1.45

7/\/0/ (’(%//74/ é k { // ]/} }}( \-"; f’&; _4.:-*/.
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